PROPRIETARY AND CONFIDENTIAL Rev| ECR Description Date By | App
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF i

CAPSTAN AG INC. ANY REPRODUCTION IN PART OR AS A WHOLE A |2048|Production Release 9/1/16 |BLS
WITHOUT WRITTEN PERMISSION OF CAPSTAN AG INC IS PROHIBITED

Kot

/[ /

L
Stand-Off Detail

Solder Blue Wire
to VSW on J10

Set DIP S
1=off 2=on Solder Yellow Wire
3=off 4=off
© © To "even"
Solder Red Wi

HHHHH a1 Solder Green Wire
TO Power " i N B850 —//TO lloddu .
/% Route wires under

Solder Black Wi€ | and around circuit
To Power "-" / board.
Connect Rocker
— Switch Assy. to
8-Pin Connector

| _——Solder Brown Wire

%

to "DI2"
al= 5 | ———Set DIP S4: 12ng
[ ok izgz 17 | 709031-806 |Screw, 10-32 x 1/2, SS 3
. Setsw1=0 : i 16 | 120140-007 |DB9, Connector Female 1
ot Rotar plgn SelSarew 15| 120140-006 _|DB9. Backshell 1
SetR49=8 1| Switch Assy. o shown 14 | 708000-138 |Cable, 4 cond, 22 ga. 9
RGO =2 | PP ' 13 | 715040-176 |[Tie, Cable, 8", Black 1
R51=3 @ 12| 705725-134 |Fuse, 10A, Type ATO/ATC | Ref
Using Serial Port 11| 706520-105 [Standoff, 4-40 M/F,Hex,.625| 6
[ 10 | 708992-101 |Screw, 4-40 x 1/4, SS 6
a\ 9 709031-804 |[Screw, 10-32 x 3/8, SS 4
Jio tia h . (5 8 | 118500-030 |Plate, Back 1
fo back plate for sirain L/ 7 | 118103-002 |PCB Assy, SharpShooter Il | 1
ol P Knob Detail 6 | 118200-027 |Cable Assy, Pulse Gen.,Winfield 1
' . 5 | 118500-020 [Switch Assembly, Rocker 1
4 118500-010 |Switch Assembly, Rotary 1
Program PIC using Atmel and 3 | 716175-001 |[Knob, Skirted Round 1
Program: 072709 2 118500-040 |Decal, SharpShooter 1
Enter Defaults via. Hyperterminal 1 716008-103 |Box, Cab Control, SS 1
Item| Part Number Description Qty
< CAPSTAN CAPSTAN AG SYSTEMS, INC.
A;g[;e;\ﬂos:vz::r:; F]\:)SR’FI’:OCI;ESSIONALS 4225 S.W. Kirklawn Ave., TopEKa’ KS 66609
Name Date TITLE:
- | BLS |9/1/16] ASSY, Pulse Generator
Checked . .
Py PWM/PSI, Winfield
SIZE DWG No: REV
B 118500-003 | A




	Sheet1

